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Question paper is divided into two parts. Part-A and Part-B. Part-A carries 50 marks
and Part-B carries 30 marks. All questions in both parts are compulsory.
(i) Ul B IR APl B IFAR HlEw vd W fo |
Answer to the questions must be brief and clear and according to marks.
HIT — 3
Part - A
Q1 wE fdbey gy -

Choose the correct option:

(i) UI R :
Management is :

(31) wem(art) (@) fasmi(Science) (W) P IR fag= a1

(Both art and science)
(@) SWRIFT A Pl &l
(None of the above)

(iiy AERIE HIfT AR € |
Mental revolution is the essence of.

(31) d=f=re we=r(Scientific Management)  (3) |3 ®I(Combination)
(@) fad@raRor wi(Rationalism) (3) IRFRFTA Ye=I(Traditional management)

(i) e vfas @ yeed & faw e T ok ' | 9 bed R

"A planisatrap to capture the future". This statement is of:

(@1) =H(Newman) (d) gci(Hurley) (1) TaHi(Allen)  (]) <R(Terry)

(iv) <Ted wad: fAfdd 8iar 2
Organisation is automatically formed.

(a1) farH® (Functional) (@) smFrg=RS (Informal)
() 3frm=arRe (Formal) (]) fawria (Divisional)

(v) AR fRAT ST FhdT B |
Delegation can be done.

(31) 1R &1 (Authority) (@) STRaII@ &1 (Responsibility)
(4) STargear &1 (Accountability) () 3rfi=er &1 (Subordinate)



Q.2

Q3.

Q.4

Q.5.

Q.6.

Q7.

Q8.

(vi) A e fAgfeaese o s 98 2 2

Which of the following is not a staffing function ?

(@1) fars™ (Planning) (@) == wd fgfad (Selection & Appointment)
(¥) =it (Recruitment) (%) ufereror ua fd@r(Training & Development)

(Vi) HHATRAT BT TR B |

Employees Training is.

(31) 3mmgege (Necessary) (@) IFTgEgh (Unnecessary)

(@) - (Occasionally) () g9 @ Fai<i(Wastage of money)

(Viii) TRIGETOT yee BT WX R |
Supervision isthe level of management.

(1) Sz (Top) @) wegq (Middle)
(@) =1 (Low) (@) SWIad a1 (All of these)

(ix) T FeeEred | 99T &I SUART 8l 81 1Ry |

In effective communication language should not be used.

(@7) T (Express) (@) g¥TEr (Impressive)
(|) sruse (Ambiguous) (]) wmef=ar(Courtesy)

(x) =T @1 R BRd 2|
By employees control is.

(@1) fa_rer (Opposed) (@) |¥fF (Support)
(¥) g9 (Liked) (@) s & ®I3 TEl(None of these)
10x1=10

Y§¥] Uh Hqd Ufear o 7 ?
How management a continuous Process? 2
BRI BT RIg w7 ® 2
What is the principle of 'Division of work' ? (2
ienRe e ¥ @ AU 7 ?
What do you mean by formal organisation? 2
TAdeToT BT T 3ref ' ?
What is meant by 'Supervision' ? (2
a1 e frd H7O & 941 § ?
Bill Gatesisaleader of which company ? 2
TqR & O WR BT A E 2
What are the three levels of management ? 3

T eI U A 3reug= I T T AHA © ?
What do you mean by Time Study and Motion Study? (1v2x2=3)



Q.9. 9 il & & g8y |

Explain the advantages of External Recruitment. 3
Q.10. frgfadexer ufear & faf=1 aRv &I Herg ¥ 9argy |
Explain in short various step involved in staffing process ©)]

Q.11 s HRITHEG I U fSfAvHd e I fod UeR = g2

How is afunctional structure different from adivisional structure? (4)

Q.12. ARGl T MMILIHAT-UTAHABAT fIARLRT BT qUiF BN |
Discuss Maslow's need hierarchy theory of Motivation. 4)

Q.13. o @1 R 1Y | 3mest frare & w®ir e € 2
Define Planning. What are the features of an ideal planning ? (5)
37211 OR
ST & 3T 7 BT AR=r HIfvTY |
(@1) Arafa=di(Strategy) (@) "ifcf(Policies) () drifaferf(Procedures)

Q.14. =l & ar ey & 2 = ufean & fafr= aron &1 qof| & |

What is meant by controls ? Explain different steps in process of controlling.

(5)

3111 OR
o fRF0T & o g Y @ § 2 fader B |
What are the benefits & limitations of Budgetary Control ? Discuss it.

"N — 9
Part - B

Q.15. (i) gge fafwy faem @ faemang 2| 6x1=6

Characteristics of a sound financial planning are:

(1) FRerar(Simplicity) (@) faaeafadan(Economy)
(|) dRerar(Liquidity) (@) I (Al of these)

(i) =¥ ®F A Yon e @ FUiRd & 9rer d@ 2

Which of the following is a determinants of capital structure ?

31) s warg Rerfa (Cash flow statement)

) sgToT JATAROT 3JaTd(I nterest coverage Ratio)

¥) FOT YA 3aRvT guTci(Debt service coverage Ration)
T) SWRIad AHI(All of the above)

AN TN N N

(i)  Iofl 9OTR UIER BT &
Capital market dealsin :

(31) STeI®Ie By (Short term funds)
(@) TgBIed By (Medium term funds)
(&) drddrel™ ®IY(Long term funds)

(8) s 9§ ®I3 TEl(None of these)



Q.16.

Q.17.

Q.18.

Q.19.

Q.20.

Q.21.

Q.22.

Q.23.

(iv) TP 3 HIUS P IfaATId 91 § -
Essentials at a good brand are.

(31) ®rer A (Short Name)

(q) amdy® feoTsH(Attractive design)

(|) I1e 3@ H M (Easy to Remember)
(T) SwIad aI(All the above)

2|

(v) fa=mus &1 |9d HE AT A 2 |

Costliest means of advertising is:

(1) fasmu=T (Advertising)

(@) <afdaed faea (Personal selling)
(@) fawg Has-(Sales Promotion)
(]) S @ (Public Relation)

(vi) SO AReTT AfSfTH & et Rreradddl 9 eI @

Under the consumer Protection Act, complaint means:

(31) SuHTaT(Consumer)

@) Iy WReR (State Government)
(4) g aXdR(Central Government)
(®) S FI(All of above)

RN o | @ s 22

&)

What do you mean by investment decision? 2
T IR T B ?

What is the meaning of Money Market? 2
BT RAT 82

What is branding? (2
fuur ug fdeg & Sfay W HIfU |

Differentiate between Marketing and Selkling. 3
gy dad= o g @ 82

What are the limitations of sales promotion? (€]

TdH HUAT D SIS Yoll &I AMaABAT BT A1 B dTel gcdhi o
Herg H guie BT |

Describe factorsin brief. Which effects the working capital requirement of a

company. (4)
J B BT BT g BT |
Outline the functions of SEBI. 4

IO HRET AR, 2019 & MTAR ITHIET & B B I MADR ¢ |
Explain the rights of consumers under consumer Protection Act, 2019. 4











